

$$\textcircled{1} f(x) = x \left(3^{\frac{1}{x}} - 2^{\frac{1}{x}} \right) = \underbrace{2^x}_{P_1} \cdot x \left(\underbrace{\left(\frac{3}{2} \right)^{\frac{1}{x}} - 1}_{P_2} \right) \rightarrow \ln \frac{3}{2} \quad [C]$$

$$P_1 = e^{\frac{1}{x} \ln 2} \rightarrow e^0 = 1 \quad (\text{poznámka } e^x)$$

$$P_2 = \frac{e^{\frac{1}{x} \ln 3/2} - 1}{\frac{1}{x} \cdot \ln 3/2} \cdot \ln 3/2 \rightarrow \ln 3/2 ;$$

neboli $\frac{1}{x} \ln 3/2 \rightarrow 0 ; x \rightarrow +\infty$
 $\neq 0$ me $P(+\infty)$.

$$\textcircled{2} f(x) = \frac{x^x - a^a}{x-a} = \frac{x^x - a^x}{x-a} + \frac{a^x - a^a}{x-a} = P_1 + P_2 \rightarrow a^a (\ln a + 1) \quad x \rightarrow a$$

$$P_2 \rightarrow a^a \ln a ; \text{ viz } \textcircled{A17}$$

$$P_1 = a^x \cdot \frac{\left(\frac{x}{a}\right)^x - 1}{x-a} = a^x \cdot \underbrace{\frac{e^{x \ln \frac{x}{a}} - 1}{x \cdot \ln \frac{x}{a}}}_{\rightarrow 1} \cdot \underbrace{\frac{\ln \frac{x}{a}}{x-a}}_{\rightarrow \frac{1}{a}} \cdot x \rightarrow a^a$$

viz $\textcircled{A16}$

$$\textcircled{3} \frac{\ln(1+\sin^2 x)}{\ln(1+\sin^2 x)} = \frac{\ln(1+\sin^2 x)}{\sin^2 x} \cdot \frac{\sin^2 x}{\ln(1+\sin^2 x)} \cdot \cos^2 x \rightarrow 1$$

neboli: $\cos y$ možná $y=0$

$$\frac{\ln(1+y)}{y} \rightarrow 1 ; y \rightarrow 0$$

$$\sin^2 x \rightarrow 0 ; x \rightarrow 0$$

$\neq 0$ me $P(0)$; poznámka $\sin x$

④ $a, b \neq 0$: $\frac{\ln \cos ax}{\ln \cos bx} = \underbrace{\frac{\ln \cos ax}{\cos ax - 1}}_{P_1} \cdot \underbrace{\frac{\cos bx - 1}{\ln \cos bx}}_{P_2} \cdot \underbrace{\frac{\cos ax - 1}{\cos bx - 1}}_{P_3}$

$P_2: P_1: \frac{\ln R}{R-1} \rightarrow 1; R \rightarrow 1$
 $\cos ax \rightarrow 1; x \rightarrow 0$
 $\cos \neq 1$ me $P(0, \frac{\pi}{2})$ } \Rightarrow V.2.B (b) $P_1 = 1$
 $\frac{1}{P_2} \rightarrow 1 \Rightarrow P_2 \rightarrow 1$

P_3 : $\lim_{R \rightarrow 0} \frac{\cos R - 1}{R^2} \rightarrow \frac{1}{2}$; $R \rightarrow 0$; $\lim_{x \rightarrow 0} \frac{\cos ax - 1}{\cos bx - 1}$

$P_3 = \frac{\cos ax - 1}{(ax)^2} \cdot \frac{(bx)^2}{\cos bx - 1} \cdot \left(\frac{a}{b}\right)^2 \rightarrow \frac{1}{2} \cdot \left(\frac{1}{2}\right)^{-1} \cdot \frac{a^2}{b^2}$

⑤ $f(x) = e^{g(x)} \cdot h(x)$; $h(x) = \frac{1}{\sin^2 x} \ln(1+x^2)$
 $= \frac{\ln(1+x^2)}{x^2} \cdot \left(\frac{x}{\sin x}\right)^2 \rightarrow 1$; $\lim_{R \rightarrow 0} \frac{\ln(1+R)}{R} \rightarrow 0$; $R \rightarrow 0$
 $x^2 \rightarrow 0; x \rightarrow 0$
 $\lim_{x \rightarrow 0} f(x) \rightarrow e^1; x \rightarrow 0$ $\lim_{x^2 \neq 0} \ln(1+x^2) \rightarrow 0$ me $P(0,1)$.

⑥ $f(x) = e^{g(x)} \cdot h(x)$; $h(x) = \frac{1}{1+\sqrt{x}} \cdot \ln\left(\frac{1+x}{2+x}\right) \rightarrow \frac{1}{+\infty} \cdot \ln 1 = 0$.
 varianta: $f(x) = \left(\frac{1+x}{2+x}\right)^{1+\sqrt{x}} \rightarrow 1 \cdot \ln 1 = 0$ $f(x) \rightarrow 1$

$h(x) = \frac{\ln\left(\frac{1+x}{2+x}\right)}{\frac{1+x}{2+x} - 1} \cdot \frac{(-2)(1+\sqrt{x})}{2+x}$
 $\rightarrow 1; \rightarrow 0$
 me B8

$$\textcircled{7} f(x) = \left(\frac{x}{\pi}\right)^{\frac{1}{1+\cos x}}; \quad x \rightarrow \pi^+ = \text{exp } h(x);$$

$$h(x) = \frac{1}{1+\cos x} \cdot \ln\left(\frac{x}{\pi}\right); \quad \text{typ } \frac{0}{0}$$

$$= \frac{\ln \frac{x}{\pi}}{\frac{x}{\pi} - 1} \cdot \frac{(x-\pi)}{\pi(1+\cos x)} = P_1 \cdot \frac{1}{\pi} \cdot P_2; \quad P_1 \rightarrow 1$$

(L'Hôpital V.2.6)

$$P_2 = \frac{x-\pi}{1+\cos x}; \quad x \rightarrow \pi^+ : \text{rotés } \text{žeb} \quad \lim_{y \rightarrow 0^+} \left| \begin{array}{l} x = y + \pi \end{array} \right.$$

$$\tilde{P}_2 = \frac{y}{1+\cos(y+\pi)} = \frac{y}{1-\cos y} = \frac{y^2}{1-\cos y} \cdot \frac{1}{y} = R_1 \cdot R_2$$

$$R_1 \rightarrow 2 \quad (\text{reál. lim. zro } \cos x)$$

$$R_2 \rightarrow +\infty \quad (\text{Věta 2.8(a); lim zro typ } \frac{1}{0^+}).$$

celkem: $h(x) \rightarrow +\infty; \quad f(x) = e^{h(x)} \rightarrow +\infty; \quad x \rightarrow \pi^+.$

$$\textcircled{8} f(x) = \left(\sin \frac{1}{x} + \cos \frac{1}{x}\right)^x = \text{exp } h(x); \quad h(x) = x \ln\left(\sin \frac{1}{x} + \cos \frac{1}{x}\right)$$

$$\lim_{x \rightarrow +\infty} h(x) = \lim_{y \rightarrow 0^+} h\left(\frac{1}{y}\right); \quad h\left(\frac{1}{y}\right) = \frac{\ln(\sin y + \cos y)}{y}$$

$$h\left(\frac{1}{y}\right) = \frac{\ln(\sin y + \cos y)}{\sin y + \cos y - 1} \cdot \frac{\sin y + \cos y - 1}{y}$$

$\rightarrow 1$
 R_2

? overa $\sin y + \cos y \neq 1$
ne $P_f(0, \delta)$

$$R_2 = \frac{\sin y}{y} + \frac{\cos y - 1}{y^2} \cdot y$$

$$\rightarrow 1 + \left(-\frac{1}{2}\right) \cdot 0 = 1.$$

celkem: $f(x) = e^1 = e.$

$$\textcircled{9} \quad f(x) = \exp\left(\underbrace{\frac{1}{x} \ln(x+e^x)}_{h(x)}\right); \quad x \rightarrow 0.$$

$$h(x) = \frac{\ln(x+e^x)}{x+e^x-1} \cdot \frac{x+e^x-1}{x} = P_1 \cdot P_2$$

$$\left. \begin{array}{l} \frac{\ln R}{R-1} \rightarrow 1; \quad R \rightarrow 1 \\ x+e^x \rightarrow 1; \quad x \rightarrow 0 \\ (??) \neq 1 \text{ na } \mathcal{P}(0, \delta) \end{array} \right\} \xRightarrow{\text{v.2.6(a)}} P_1 \rightarrow 1$$

celem $f(x) \rightarrow e^2$,

$$P_2 = 1 + \frac{e^x-1}{x} \rightarrow 2; \quad x \rightarrow 0; \quad x \rightarrow 0.$$

$$\textcircled{10} \quad f(x) = \exp\left(\frac{1}{x} \ln\left(\frac{a^x+b^x}{2}\right)\right) = \exp h(x); \quad a, b \neq 1, \quad a, b > 0$$

$$h(x) = \frac{1}{x} \ln \frac{a^x+b^x}{2}; \quad a^x = e^{x \ln a} \rightarrow 1; \quad x \rightarrow 0$$

leč $\neq 1 \quad \forall x \in \mathcal{P}(0, \delta)$

(neboť e^y je rostoucí v \mathbb{R})

$$= \frac{\ln\left(\frac{a^x+b^x}{2}\right)}{\frac{a^x+b^x}{2}-1} \cdot \frac{\frac{a^x+b^x}{2}-1}{x} = P_1 \cdot P_2;$$

$$P_1 \rightarrow 1; \text{ neboť } \frac{a^x+b^x}{2} \rightarrow 1; \quad x \rightarrow 0 \quad ?? \quad \frac{a^x+b^x}{2} \neq 1 \text{ na } \mathcal{P}(0, \delta)$$

(pomocí derivace)

$$P_2 = \frac{1}{2} \left(\frac{a^x-1}{x} + \frac{b^x-1}{x} \right) \rightarrow \frac{1}{2} (\ln a + \ln b) = \ln \sqrt{ab}$$

celem: $f(x) \rightarrow \sqrt{ab}, \quad x \rightarrow 0.$

$$\textcircled{11} f(x) = e^{h(x)}; h(x) = \frac{1}{x^2} \ln \left(\frac{1+x2^x}{1+x3^x} \right);$$

$$h(x) = \frac{\ln \left(\frac{1+x2^x}{1+x3^x} \right)}{\frac{1+x2^x}{1+x3^x} - 1} \cdot \frac{\frac{1+x2^x}{1+x3^x} - 1}{x^2} = P_1 \cdot P_2;$$

$$P_1 \rightarrow 1; x \rightarrow 0; \text{reelol}^{\vee} (\text{U.2.6. (b)}) : \frac{\ln R}{R-1} \rightarrow 1; R \rightarrow 1$$

$$\frac{1+x2^x}{1+x3^x} \rightarrow \frac{1+0 \cdot 2^0}{1+0 \cdot 3^0} = 1; x \rightarrow 0;$$

$$\frac{1+x2^x}{1+x3^x} \neq 1: 1+x2^x \neq 1+x3^x \\ 2^x \neq 3^x$$

$$\text{ex}(\underbrace{x \ln 2/3}_{\neq 0}) \neq 1; x \in \mathcal{O}(0,8) \\ \neq 0. \quad \text{o.k.}$$

$$P_2 = \frac{1}{1+x3^x} \cdot \frac{2^x - 3^x}{x} = \frac{1}{1+x3^x} \cdot \left(\frac{2^x - 1}{x} - \frac{3^x - 1}{x} \right)$$

$$\rightarrow 1 \cdot (\ln 2 - \ln 3); x \rightarrow 0; \text{alleen } f(x) \rightarrow \frac{2}{3}.$$

$$\textcircled{12} f(x) = e^{h(x)}; h(x) = \frac{1}{x} \ln \cos \sqrt{x}; x \rightarrow 0+.$$

$$h(x) = \frac{\ln \cos \sqrt{x}}{\cos \sqrt{x} - 1} \cdot \frac{\cos \sqrt{x} - 1}{(\sqrt{x})^2} = P_1 \cdot P_2.$$

$$P_1 \rightarrow 1; \text{reelol}^{\vee} \cos \sqrt{x} \rightarrow 1; x \rightarrow 0+$$

$$\text{loc } x \in \mathcal{P}_+(0, \pi): \sqrt{x} \in (0, 1) \Rightarrow \cos \sqrt{x} < 1$$

$$P_2 \rightarrow -\frac{1}{2}; \text{reelol}^{\vee} \text{deriv}; \frac{\cos y - 1}{y^2} \rightarrow -\frac{1}{2}; y \rightarrow 0$$

$$\text{alleen: } f(x) \rightarrow e^{-1/2}; x \rightarrow 0+$$

(13) $f(x) = \exp h(x); h(x) = x^2 \ln \left(\frac{x+2}{2x+3} \right);$

$h(x) = x^2 \cdot \ln \left(\frac{x+2}{2x+3} \right) = P_1 \cdot P_2; \rightarrow -\infty, x \rightarrow +\infty$

$P_1 \rightarrow (+\infty)(+\infty) = +\infty; x \rightarrow +\infty$

$P_2 = \ln \left(\frac{1 + \frac{2}{x}}{2 + \frac{3}{x}} \right) \rightarrow \ln \left(\frac{1+0}{2+0} \right) = \ln 1/2 < 0$

dle VOAL & mejitorki $\ln y \sim y_0 = \frac{1}{2};$

celkem $f(x) \rightarrow 0; x \rightarrow +\infty; \text{ neboť } e^y \rightarrow 0, y \rightarrow +\infty.$

(14) $f(x) = \left(\frac{x^2-1}{x^2+1} \right)^{\frac{1}{x^2}} = \exp h(x); h(x) = \frac{1}{x^2} \ln \frac{x^2-1}{x^2+1}; x \rightarrow +\infty$

$\frac{1}{x^2} \rightarrow \frac{\ln 1}{(+\infty)^2} = 0; x \rightarrow +\infty$

$\ln \left(\frac{x^2-1}{x^2+1} \right) = \ln \left(\frac{1 - \frac{1}{x^2}}{1 + \frac{1}{x^2}} \right) \rightarrow \ln \left(\frac{1-0}{1+0} \right) = 0;$

dle VOAL & mejitorki $\ln y \sim y_0 = 1;$

celkem $f(x) \rightarrow e^{0 \cdot 0} = 1.$

(15) $f(x) = \exp h(x); h(x) = \frac{1-\sqrt{x}}{1+\sqrt{x}} \cdot \ln \left(\frac{x+1}{x-1} \right); x \rightarrow +\infty$

$\frac{1-\sqrt{x}}{1+\sqrt{x}} = \frac{\frac{1}{\sqrt{x}} - 1}{\frac{1}{\sqrt{x}} + 1} \rightarrow -1; x \rightarrow +\infty$

$\ln \left(\frac{x+1}{x-1} \right) = \ln \left(\frac{1 + \frac{1}{x}}{1 - \frac{1}{x}} \right) \rightarrow 0; x \rightarrow +\infty$ (viz př. 14)

celkem $f(x) \rightarrow e^{-1 \cdot 0} = 1; x \rightarrow +\infty.$